Dividing By Decimals


In a division problem, the dividend is the number that is to be divided.  The divisor is the number that is divided into the dividend.  The quotient is the answer to the division problem.  

Example 1:  Divide.  Round your answer to the nearest tenth, if necessary.
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Step 1: When dividing any number by a decimal, the decimal point in the divisor must be moved to the right the same number of spaces as there are decimal places (so that it becomes a whole number).  The decimal point must be moved the same number of places in the divisor and dividend.  In this case, move the decimal point one place to the right in the divisor and one place to the right in the dividend.
Step 2: Write the new division problem, making sure to write the decimal point straight above its current location, and begin the division process.  Since 1 and 12 cannot be divided by 68, determine the number of times that 68 will go into 120 (1 time, with 52 left over).  Write the 1 above the 0 in 120, and subtract 68 from 120.
Step 3: Bring the next zero straight down to turn the 52 into 520.  The number 68 will go into 520 seven times with 44 left over.  Write the 7 to the right of the 1, and subtract 476 (68 [image: image4.png]


 7 = 476) from 520.
Step 4: Add another zero after the decimal point under the division bar and bring it straight down to turn the 44 into 440.  The number 68 will go into 440 six times with 32 left over.  Write the 6 beside the decimal point, and subtract 408 (68 [image: image5.png]


 6 = 408) from 440.
Step 5:  The problem stated to round the answer to the tenths place, so the division must be taken out to the hundredths place in order to determine how to round the number.  Add another zero after the last zero under the division bar, then bring it straight down to turn the 32 into 320.  The number 68 will go into 320 four times with 48 left over.  Write the 4 next to the 6 and subtract 272 (68 [image: image6.png]


 4 = 272) from 320.
Step 6: Round 17.64 to the tenths place.  The 4 in the hundredths place makes the 6 stay the same, so 17.64 rounded to the tenths place would be 17.6.  NOTE: If the 4 had been a 5 or greater, the 6 would have been rounded to a 7.

Answer:  17.6
